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Q No. | Question
o . .
! What are the Highest Common Factor and Lowest Co\mmon Multiple of 6, 72, 1207 / ‘|
o 6, 72, 120 1 Hgcad FHITEcH 3R FHAH FAMAE T E? |
12, 180 Ps. 360 360, 6 | 12, 360 ‘*
o
2 2 If a quadratic polynomial y = ax+bx+c intersects x axis at a and B, then /
~ Ilﬁvﬁ?aﬁm?ﬁ'ﬂ'agqay=ax2+bx+cﬁ?mi_{ffxﬁa3ﬂ'{ﬁQTEHEHT%HT
& L
T ¥ a+pB=-b/a |a+B=a/b ‘ax[3=a/c Ia/[}:l
—
_/5 % c/3; If in two linear equations ax + by = ¢ and dx + ey = f and ald = ble = c/f'then, which
X of the following is true about the two equations? / afe gfavdra FHFIOT ax+by=c¢
‘i 3 dx+ ey = F 3R a/d = bje = ¢/f @ & RN & O F B A ¥ FA W HA 7
They represent intersectingleThey represent Have a unique | None of _
lines / & 3iafdse @3 | coincident lines. / & solution. / T& | these / &AH
Y gl § Furd YEnat & g § | @ g & ¥ &S e
0
ela ¥ _
[
A\) 4 Roots of the quadratic equations 2x % + x—528= 0§ : / &l FHIeT 2x?+x-528=0 F HA &
O 16 133/2 | Both a&b/ a3l b awit | None of these / e & ®$ =Ter
Lﬂ)‘) 5 Sum of all positive integers from 1 to 100 is: / @ uﬂmw 1 & 100 & AT &
5050 | 5020 | 10800 | 2400
: /\,0) i "
@' W If area of similar triangles A ABC and A DEF be 64 sqcmand 121 sqcmand EF =
15.4 cm then BC equals: / af& @@mar Bsslt A ABC 3R A DEF T &1hel 64 ad7 afr. 3N
121 ot @ ¥ 3R EF=154cm B, & BC SR & :
§ X7 / 8 TH. 18cm /18 ; . ; :
S 8 cm [T 11.2cm/ 112 @4, | 8.2cm / 8.2 &
vy F%e ' ) >
L, 3 a5 > w BEL el
Ay % i ; . : - . |
'S/ | 71 Area of a triangle with vertices at (2, 3), (-1, 0) and (2, -4)is -/ /
o TE B, s o (2,3), (-1, 0) 3R (2, -4) & 3T TG & |
21/2cm / 21/2 sq units / 21 sq units / None of these /
21/2 ¥+ 21/2 o e 21 7@ g I X S A
5
s 8 2 x Tan 30°/ (1+Tan?30°) equals : / 2xTan 30°/ (14Tan’30°) & 1= e &
' Sin 60° [ Cos 60° | Tan 60° ['sin 30° f
Q A2
& 2 A 30 W”",ﬁp)‘

b ‘r A Q % L (o
/5@ ’_Z ﬁw By r),/)\-r\i@;_‘e

(2

, Vi it~ 1 4°
) /\l.% = 'L-\/AQOJ)Z (m/ﬁ.@ . “ /&w\
o> /'z/ A%i
-__-‘\



‘ . oo
J—/g— The angle of elevation of the top of a tower from a point on ground which is 30 mtrs.
away from the foot of the tower is 30°. Height of the tower is :/ T g, ST HAR ¥ fad

Wﬁwwegﬁuﬁﬁ,ﬁmmanhﬂ"aﬂmaﬁwao“%!Iﬁﬂﬁﬁ'ﬁé?’i
10 / V3 mtrs. / "10)(\!3 mtrs./ - , 100 mtrs./ | 20 mtrs./

L 10 V3 AT | 10 Xv3 #eX | 100 s S A

5 cms. from the centre of the

.‘)éwx‘eo =710 The angth of a tangent from a point A at a distance
E 4 circle is 4 cms. Radius of the circle is / B 3 & ¥% fag & 5 F#. $1 gy w T
) J
3° e ﬁEU?WTT@Tﬁm@4M%IqHEﬁTﬁW?:/T_’//
2ot 2cms / 2 ¥+ SCmSISM.J\/B cms / V3 @ |\/3/20ms/‘\/3_/2’ﬁi4
5 A
’y\ " NPT .
g ' 11 Length of a minute hand of a clock is 14 cms. Area swept by the minute hand in 5
'jfi minutes is:/
;’é’; Wﬂﬁrﬁriﬁm@rgéa?ramémm.%.5@?52#@?{?:@@%#?%@%@:
| 154 sq cms/ 154/3 sq cms / 210 sq cms | 154/ V3 sq cms /
el | 1 gar FA 154/3 ot . | 210 T JA. | 1543 T A,
—Y;TD'E = 2 y.2xX Y
@ S X E f_i{wsﬂi‘:'
Y ﬁ | A metallic sphere of radius 4.2 cms. is melted and recast into the shape ofg cylinder \
2 1&“'}3—7 ' of radius 6 cms, Height of the resultant cylinder would be: / i
':_t;‘xaﬁ' W4.2m.ﬁ3wmﬁmﬁaﬁmﬁﬁwmwem.ﬁwaﬁﬁmﬁ%m
.}/a\ ﬁgﬁ:ﬁﬁﬁmm‘%l qRoTHET: 5 fest f FAS g
q 170 oms /110 3. | 3.84 cms/ 3.84 . | 30 cms/30 3. [2.74cms/ 2.74 JA._|
\ : : T
jq&g " ontains 3 blue, 2 white and 4 red marbles. If a marble is drawn at random from
A box C
% A = the box, what is the probability that it would be white./
, Waﬁﬁ3;ﬁﬁllﬂaaﬁ14mﬁﬂﬁ?ﬁ%ﬁ@§é% | I S99 # ¥ UF &g
ﬁﬁﬁm@am%ﬁmm%mmmm#q@mmg |
Y ot be datermined/ PHRTSIRHEST St | 1 [ 719 F2/9
/)) >
X B
SIS P , rolowing cannot be the probability of an event? /
21 Y14 Which of the 10 :
95¢v & ﬁﬁwwuﬂﬁq@ﬂﬂﬁﬁaﬁi-ﬁ?
. 5 - [ 15% [0.7

|ated using direct method, assumed mean method
= uped data calcu n od or
& [ Mean of 2 gr° e/ o W 3w A, e Rl A ey R g

‘Has huge variation/ None of these /

31 geard gl € Wﬁaﬂ%;@i
—"
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Rsnfaa #aT &

in the ratio 2.3 7 /
39 ﬁg%%wﬂﬁ sr‘r‘a’rsﬁa-rﬁrm (-1, 7) 3R (4, -3) ¥ 2:3 & eqad A

(7, 4) | (9.9) 1(1.3) 1 @47

20

Volume of a cone with radius r and height his: /
m.a@mmraﬂwﬁréh?,mmﬂm:

th? | méh/2 5.1 [ mirh/3 (= ‘mrhida
& "),\-> ——'\-. " L‘A » L"‘, 6 e C
Lfb, _ N =3 ) K" )
: ,21/ International Day of Yoga is celebr‘ated annuallyon:/ ' o ~ ,
f e g€ R AT faw A St ¥ -
21 June/ 10 December / 21 July / 21 September /
21 3 ot s |21 Rewmw
City of lakes’ in India is: / 8Rd & il @ T §
Lucknow / Chandigarh / Bengaluru / “Udaipur /

Which of the diseases is not caused by virus? /

= “Chickenpox/ @& | Dengue / LA Polio / ey

cac

How many states aré there in India? / S # foheel T &7 -
T 28 L. | 27 | 29 ™
TR -

= -3 4 g N )

/Lé Which of the following is a Prime Number? / Tt # & &la U 304 Hjﬂ_ﬁf_j?_____\ﬂ
12 [7 (9 14
/ ]
./ﬁ/ If polynomial P(x)= x* — 3x + 5x-3 is divided by polynomial G (x) = x*- 2, the |
quotient and remainder are : / IR a9 P(x)=x’—3x" + 5x-3 fasnfoia g & 9§94
G (x)=x*—2 &, a afey 3R NG & :
: S
x-3, 7%-9 [ x, 7x | x-3, 7x [ x, 7x-9
b -
4 g} If in triangle ABC, if side AB=6v3, AC=12 and BC=6, then angle B equals: /
T fser ABC #, AR ST AB=6v3, AC=12 3R BC=6 & @ T B FA &
120° "60° | 90° | 45°
=
2
|
19 What are the coordinates of the point which divides the line joining (-1, 7)and (4, -3) @"M
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. - | 3P F AR H,
During Akbar's regime, who carried out land revenue reforms: / &
| e s HUR

Mann Singh / ame g Tansen / d=AA

Todar Mal /etst A« [ Birbal / &Reer

Which of the following is the unit of heat? / et # & 3vaAT 4 31 FlaT @ &7

[Joule / 3 Ohm/ 3= Ampere/tFdRIT Volt / afee

Who among the following is the future Buddha that is yet to come? / = & ¥ &t
| HTEST & g2 ¥, e anh smaia e ¥ 2

Lokes Varna Maitreya/ &3
[T qut

Laughing Buddha Chanakya / oy

amga

| 1 R e @ & o g &

Jaundice is caused due to malfunctioning of :/

" Fliver / CIGES

Stomach / 9z

Pancreas / 3

Kidney / aref
| .

o |29

Tsangpo river flowing through Tibet is known in India as: /
fissrd # 3 gl a6t arehr wierar ) WG H ST e @

Brahmputra / §€R9T | Ganges /ararr

Sutlej / Heelst

Yuri Gagarin, the first cosmonaut to reach space, was from whichenmmes

; e ; ich country?
qfrmﬂamﬁﬁ#@mmmmmwm i

i

UK / gerges femrsa

| Japan ST “Russia | ¥

| What is boiling point of water in Fahrenheit? »

IeTgEe & UN I FaUES T §?

100°F

| 32°F

[212F — ToF

Kalibangan, the Indus Valley _

e, iy e wuw, fud &

RajasthanRsea=iGujarat /e

33

Who was the founder of Banaras Hinduy University? 2 «
; ¥ GEITIH Py o
ey fig Favafaearerd

Dey/ | Madan Mohan Malviya
Heet Age A

Sukumar

AR 3
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34 ‘ Where do you find the temple of Angkorwat?

[ Thai e i Jﬁ—mj Myanmar / FITAR
| Thailand / eredfs | Malaysia / #afemr | Combodia / F#SMET |

B |
4——-'_-'—‘—_-

Which of the following can cause a Tsunami?/
[Crote- o GATHAT 1 FHROT g Hehl &7

= - / |
Volcano/sararydr | Avalanche / RA-s@es | Tornado / 45T Earthquake / #F#q
)

——

The Bhakra Dam in India is built on: / $1Re & sT@eT &y AR &

Beas River Phelum River Sutluj River Ghag";‘;’we"
/=0T ey /e [E AL /e

Who wrote ‘Ramcharitmanas? /

THTRTHAT & TAR/AT FleT 7
Tulsidas/geRfier | Vedvyas/ deear | Kalidas/ #eler@ - | Panini/ Sifotedr

/g The river known as Ganges of the South is: 13, 7
afRIOT Y I F AT ¥ SN T A A8y R

L ( Godavari/ fMe@® | Krishna/ &y } Kaveri/ #adl | None of these/ 5518 & #1$ s¢T

39 | Where is the Tungbhadra Sanctuary located? /
| TS IEARCY Sl oud &7 |

| MP/ HEF w31 UP / 3caR wear Karnataka | Fiew | WB / qRgs CLIr) q

40 | Where is Nanda Devi Mountain? / #er &dY 9 st &2
" Uttrakhand / Rajasthan/

Himachal Pradesh / Arunachal Pradesh/
L-‘BFFRT@_S' TENT AT TeRr XU weer

@Eamhita is the original name of: / 5/ &fgar e LA
Z —a;r;\ayana/

| Bhagwat Gita / Panchtantra/ Mahabharata/
e
- . e d due to deficiencm
: Rickets is cause
e W/ﬁﬁmzwwwmm
r V\}EQ}BEE‘B / Vitamin K/ Nitam
\ 1 o itamin A/




B e

Who was the first woman speaker of Lok Sabha?/

jﬁ? AT T g AT FHETT HiT A?
Sumitra Mahajan/ | Najma Heptullah/ | Meira Kumar/ ‘

o Agree ASTAT gegeelE AT FAR g aifee ol

Paratibha Patil /

With which sport is term Butterfly associated with:/
e T & gewars U FFEOd §7
Kabaddi/#egsr Cricket/ foe Football /Fcarer

Swimming/ R |

The resolution for removal of Vice President of India should be moved in: /

45
HRE ¥ IOy & SR T TETd TEqd g Ao
Lok Sabha/ Rajya Sabha/ Either of the Houses/ | None of these /
IR T T fopelr T Heel A A ¥ IS A6l
' e

What happens when dilute hydrochloric acid is added to iron fillings? /
mg@mﬁmvﬁgﬁmﬂmqﬁﬁmm?,aawmg?
“Hydrogen gas and iron| Chlorine gas and iron No reaction | Iron salt and water
chloride are produced/| hydroxide are produced/ takes place/ | are produced /
grseeie A 3R I | e A AR 1§ gfafrar | 3R @ee AR

AeaFFe > fecds 74

: o grer e fared 9 # ol F oRafda & qar ¥ | gwer O va. gem
1

A solution turns red litmus paper blue. Its Ph is likely to be:/

4 5 710

.,ﬁg An element reacts with oxygen to give a compound with a high melting point. This T

compound is also soluble in water. The element is likely to be:/
o deq eRie & A AR aRE v ou Rues g o th e g 8 9
A qrel # geeie 1 IE 9 g

Calcium, fexr® | Carbon/ e Silicon / fR@f&eT | Iron/ 3mRe
F G = O,+C=co R e
. g 2 o O w;%% 0,7 e = foO

While cooking, if the bottom of the vessel is getting blackened on the outside. it

means that : /
T S T AT A P A TR B R F Fom @Y T ¥, T 30T ¥ R -

The fuel is Nt burning | The fuel is wet The fuel is burning

! §4e afrem & completely / Sty
Tﬁ?{: STel 8T %
. |

The food is not .
cooked completely/ completely/ ¥ quig;

e qota: T A e G T
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50 Which of the following statements is not correct about
to right across the periods of the periodic table:/ et

ARVl # At & gt o &, A g & an F 6@ A

the trend when going from left
# ¥ FiA G FUT F A

The elements The number of Atoms lose their | Oxides of the

become less valence electrons electron more element become

metallic in nature /| increase / &gl ¥ | easily/ 3 39w | more acidic / &

dedl Y SR FH | AT He S | o @ A & erarEsy HiOw

tnfcas gl & wear # gfe g & g Er e § | i @ o @
./Sf Kidneys in human beings are a part of the system for : /

Alea R A ¢ Bra gomel &7 U T §

Nutrition / q’IWT Respiration/ a& “Excretion/#el @@t J’)ansportationlvéiaﬁ
o /5§\ The gap between two neurons is called a: /

ar el & & & AW H Fed o

Dendrite/S318T “Synapse/ fascE | Axon/ TSI Impulse/sFaea

53 | In a plant, the anther contains: / T T & WEEN F g1 &

Sepals / T F1 dEIE

Ovules/ dsmoy \ Pistil / 57 A
|

Pollen grains/ GRMRTHRTT

In evolutionary terms, we have more in common with:/

Bacterium/
Sitaroy

2

difee T @, g7 TR TAed ¢
/‘/A Chinese school “Chimpanzee / Spider /
boy/ T& il BT GratEl Hepsr
-

Which of the following material cannot be used to make a lens? /
B & § F AT gy o S A T Y R S Rl &2

Water/ drit Glass / gfrer Plastic / cenfesw  [Clay / &gy
56 | The human eyes form the image of an object at its:/ T

AG o el g & wfafde sefar @

\ Cornea/ ®if«am J Iris / 32 tPupiI/ qefell "Retina / Yfear

Vi
Which of the following terms does not represent electric power in a circuit? /
.mﬁ#WWWﬁWQWmaﬁa&ﬁmm
ER [IR? v VR
| 8
L e —




158 | The device ue "

he devi
> ICe used for producing electric current is called: /
Jzﬂﬁe VOTE YeT ot & o waller @t aren A9 Fgeldl &
n
erator/ S¥ex | Galvanometer/ Aeastde Ammeter/ 3#rex | Motor/ AT

59 i

2 Which ,Of the following is not an example of bio-mass energy source? /

= & ¥ Fia My 35t wa w1 o e A&

Wood / ﬂ@ Gobar gas/ @&} 34 “Nuclear energy/ #IfR&T it | Coal/

60 Which .of the following constitute a food chain? /
s & ¥ Sl v wiey s@en § §?
Grass, Wheat and I\’Grass, Goat and Goat, Cow and Grass, Fish and
Mango/am¥, 9 3 | Human / &1, Elephant / §&, Goat/ ©1¥, ?Tqél
A i ‘amframzrraai ang 3R gred ‘ﬁra&«—ﬁ

For question nos. 61-70, complete the sentence by choosing the most appropriate option

from those given below:
0 o S S

I

61 ]Plea'___wgﬂd_omn are IMM% AT an existence.
b s , Td‘_— S At i AT,
Do HelF el N | on | of | by ;

Is ther .......... fltnecs centre near your house’7

the 1 none of these ‘
b S
63 He has hard! read ....... book. il
al the I none of these = |

Cye=n c1| and affects one 's body, mind and spirit.

64 | ..oo..OF paln is real
\ Exgenencmg L “Experience __ | Experienced I none of these

__'——-_——, .. - .
He drove with....... care ano hence ‘was fined by Traffic Police.

g5 [ Hedrove T
ML@( - I all ‘ none of these

[StS frOm all over the world.

L= e )
tour
_..cultural diversity attracts
L 58 X dia’s India____— I Both -(a) & (b) I o b

//
me figured in the Times of India.

iany | none of these




68 | The......monkeys that escaped from the Delhi Zoo were found eating bananas in 5 ‘

fruit shop. e

many | three all__ ___|'different

18d | Weare.......to go out for a picnic tom

OITOW. AR T ;S
plan oianning. . UGROME  T think “

70 | The train must.......reached Delnibynow. N 4
has - 1 had have none of these

For question nos. 71-75, select the word spelled incorrectly.

L7217  Imischeif | belief | thief | grief |
V72 | tamiliar | sin | hammer | grammer \
i local |
\/fﬂﬂi | 73 | focal | | vocal | vehical | loca

| \/‘L}\ \/7’{7 \carbenter : 'kdenteist ‘_doctor |plumber l
\ (8% -

\/:ZWL L,D‘S’ ' \volkano "crater l lava | earth \

h For question no. 76-80, please choose one of the 4 alternatives that can be substituted for

\/,f,/ the given sentence.
s [

\ A person who believes in God. !
\Theist ‘ Cynic | Atheist

o ¢ —
@ 1 Story of an individual by himself.

\’biography \ autobiography l hijs;élry _@ these [

A book or paper written in hand.
edition [ draft manuscript

79 A number of ships.
fleet \ galaxy constellation M
()
A yound cow.
boine Wl [calf B ‘
g none of these
10

| none of these J




For question nos. 81-85, find the odd one out of the choices given therein. /

TR HEAT 81-85 #, Ry a1y fawontt A F 9w YA

i ke/ 3 &
\ﬂ Vindhya/ feea Satpura / ®aqsT | Aravali/3RTaelt Dal Lake/
/

Kaveri/ F1ad '

‘&2 Ganga /T Yamuna/ I j Brahmputra / SEAYT

Temperature/ A9l |

j(s_;ﬁ “Ammeter/ 3#HET | Thermometer/dHATHET Barometer/sRI#HTET

1/8}/ Mango / 3 apple / @& “potato / HTe[ blackberry /
| sl
|
85 Aizawal / 3T | ltanagar / 3e#@R | Tripura / FqRT Shillong / Rremer

For question nos. 86-90, each question contains a pair of words. Find the relationship
between these two words. Then choose from the options given in which the relationship is
almost similar. / WesT T&AT 86-90 H, YAdH WA H TH 9 IIH ¥ ST ereal & AEy geay
g deavand fedl o ot # & T WA WY AT ey # gy

88~ | Copper: metal/ dfaT : a1
Gl e Tt . Al
engine : car / Furniture : wood / | Pen : pencil / Pepper : spice /
| |sFmi R e Ta eTehs o SR A Agrer
\\_ S "_\}
./M Granary : wheat / =R : 3% o T T harbeeee—
lake : water / wine : grapes / gallery : art / Archi
. chive : docy
e ; arei AT« 3R AR ey mm.mrran:rntsf

88 | Albania : Europe / 3rearferar - i)
Sydney : Australia/ Congo : South America/ [Ben
el : aeeforr TN gfEor 3ARET {
W Uranium : Nuclear power piant / \
RIATH . RA] Faft 4T
coal : washery / sand : sea / :
FIger  anerdy W o




NPT N

efe© |7

o e

90

Hallikar : cow / gella ; T

dachshund : dog / | Gir: lion /
SUYE : Feal iR ;W

In the number series, what number should come next?,7. 10,8,11,9, 12,

mm#mmwwm """

11 |15 |14 E

IZ',A?”, 2, 1/ L’y g

What comes next R, U, X, A, D, ...?/
R, U, X, A D, ... 30Tar &7 30am?

]

F o S ]H‘.._ |

yaf | If the 7" day of a month is 3 days earlier than Friday, then what day will be on the 19"

day of the month? /

afawﬂé’!ﬁ_w7Hiﬁﬂ?ﬁaﬂ_#3ﬁﬂqﬁ%,Efrn@ﬁﬂ..jg'a'rﬁ?rwmm

. v pJ (—‘ b
5D w5 5

=

o~

Sunday/ IER Monday/ wiar Wednesday/guar \F.riday/?W J

S 5

If EARN is related to RANE and R —-—

Bkt ~ ‘agd BOND ‘S related to NODB, in the same way TEAR is
afg

EARN T & RANE 3ty moav | Gl TR
& : NEmBONDmH%NODB?,H’TmWTEARW

ATRE "AERT

Average age of a father and
ageoftheson? / ss°" '8 22 years. Ratio of their age is 10:1 whatis

. B
Rt 17 %"fi‘zza&%nm

40 years/a0 2§ T years / 6 @



; Fo; ?:)est:sn nog. 96-100, each question comprises of a state
and (Il). Assuming that the statement is true, which of the conclusions follow logic

the statement? /

qeT T 96-100 . Sdw wor v F A & Fread () AR (1) & T A gU o FHI
#a ¢, Bl @ ovwd aiffe g § wua & Ty 3fRa gem

2

Statement : FUs

RO & Fa17 |
Conclusions: oy

(1

In a one day cricket match, a team made 200 runs, out of which 160 run
by spinners. / t& Radrr frhe &9 #, td &HF & 200 T ST, Srad ¥ 160 I

ment and two conclusions (1)

ally from

80% of team consists of spinners./ & & 80% U & |
Opening batsmen were spinners./ SRFHE Fooars IR & |~

s were made |

(1)
Only conclusion (I)  [“Only conclusion | Neither (I) nor (Il) | Both (1) &)
follows / aer f@swy | (I1) follows / follows / & @r (1) follow / (1) 3 (1)
(1) 3meem ge fswy (1) | 3iRoa & (1) meem 2xat & e
e v’

—=""FR |

Statement : YT

T

-
()

Conclusions: fassy -
Change is the law of nature. / IRad SEfr @1 s & | -
Discard old ideas because they are old./qure =Rt @ T &, wifh o [

The old order changeth yielding place to new. /g Zaa&dT ¥ T O AT egaEdr ATl

Neither (1) nor (I1)
follows /& @t (1)

A & (1) e

Both (1) & ()
follow 7 (1) 3R (1)
ket & 3mear

g
“Only conclusion (1) | Only conclusion Il
follows/ Fao follows / @ae
sy (1) 3maem foysed (1) 3T9eT

Statement : YA

Conclusions: forsy
(1)

(I

“Only conclusion (1)
follows/

frsd (1) 3meen

Because of growth in prod
India has become self-suffi

7 frdfi g HT TR E |
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